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1. परीीक्षाा प्राारीम्भ होोनेे केे तुुरीन्तु बााद आप इस परीीक्षाण पुस्ति�तुकेा केी पड़तुाल अवश्य केरी लं किके इसमेंं केोई किबानेा छपा, फटाा या छूटाा होुआ पृष्ठ अथवा प्राश्नांा�श 
आकिद ने होो। यकिद ऐसा होै, तुो इसे सहोी परीीक्षाण पुस्ति�तुकेा से बादल लं।

2. इस परीीक्षाण पुस्ति�तुकेा परी साथ मेंं किदए गए केोष्ठके मेंं आपकेो अपनेा अनुुक्रमांं�क किलखनेा होै। 
परीीक्षाण पुस्ति�तुकेा परी औरी कुछ नु लि�खेंं।

3. इस परीीक्षाण पुस्ति�तुकेा 50 प्राश्नां किदए गए हों। प्रात्येके प्राश्नांा�श लि�न्दीी और अ�ग्रेेजीी मेंं छपा होै। प्रात्येके प्राश्नांा�श मेंं चाारी प्रात्युत्तरी (उत्तरी) किदए गए हों। इनेमेंं 
से एके प्रात्युत्तरी केो चाुने लं, कि�से आप उत्तरी-पत्रके परी अ�किकेतु केरीनेा चााहोतेु हों। यकिद आपकेो ऐसा लगे किके एके से अकि�के प्रात्युत्तरी सहोी हों, तुो उस 
प्रात्युत्तरी केो अ�किकेतु केरीं �ो आपकेो सवोत्तमें लगे। प्रात्येके अ�श केे किलए केेवल एके होी प्रात्युत्तरी चाुनेनेा होै।

4. आपकेो अपनेे सभी प्रात्युत्तरी अ�ग से किदए गए उत्तरी पत्रके परी होी अ�किकेतु केरीनेे हों। उत्तरी पत्रके मेंं किदए गए किनेदेश देखं । 
5. सभीी प्राश्नांा�शं केे अ�के समेंाने हों।
6. ग�त उत्तरं के लि�ए दीण्ड :

सभीी प्रश्नोंं मांं उम्मांीदीवांर द्वांरं लिदीए गए ग�त उत्तरं के लि�ए दीण्ड लिदीयां जींएगं।
प्रात्येके केे किलए चाारी वैकेस्ति�पके उत्तरी हों। उम्मेंीदवारी द्वाारीा प्रात्येके केे किलए किदए गए एके गलतु उत्तरी केे किलए होेतुु किनेयतु किकेए गए अ�कें केा एके-कितुहोाई दण्ड केे रूप 
मेंं केाटाा �ाएगा। यकिद केोई उम्मेंीदवारी एके से अकि�के उत्तरी देतुा होै, तुो इसे गलतु उत्तरी मेंानेा �ाएगा, यद्यकिप किदए गए उत्तरीं मेंं से एके उत्तरी सहोी होोतुा होै, किफरी भी 
उसकेे किलए उपयु�क्तुानेुसारी होी उसी तुरीहो केा दण्ड किदया �ाएगा। यकिद उम्मेंीदवारी द्वाारीा केोई होल नेहों किकेया �ातुा होै अथा�त् उम्मेंीदवारी द्वाारीा उत्तरी नेहों किदया �ातुा 
होै, तुो उसकेे किलए केोई दण्ड नेहों किदया �ाएगा। 

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT THIS TEST 
BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS, ETC. IF SO, GET IT 
REPLACED BY A COMPLETE TEST BOOKLET. 

2. You have to enter your Roll Number on the Test Booklet in the Box provided 
alongside. DO NOT write anything else on the Test Booklet.

3. This Test Booklet contains 50 Questions. Each item is printed in Hindi and 
English. Each comprises four responses (answers). You will select the response which you want to mark on the Answer 
Sheet. In case you feel that there is more than one correct response, mark the response which you consider the best. In 
any case, choose ONLY ONE response for each item.

4. You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions in the Answer Sheet.
5. All items carry equal marks. 
6. Penalty for wrong answeres:
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN ALL THE QUESTIONS
 There are four alternatives for the answer to every question. For each question for which a wrong answer is given by the 

candidate, one-third of the marks assigned to that question will be deducted as penalty. If a candidate gives more than 
one answer, it will be treated as a wrong answer even if one of the given answers happens to be correct and there will be 
same penalty as above to that question. If a question is left blank, i.e., no answer is given by the candidate, there will be 
no penalty for that question. 
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Q 1. यूूरोोप केे संंदर्भभ मेंं, नि�म्ननि�नि�त केथ�ं परो नि�चाारो  
केीनि�ए:
1. क्षाेत्रफल केी दृस्तिष्टा से सातु मेंहोाद्वाीपं मेंं यूरीोप केा पा�चावा� �थाने 

होै। 
2. इस मेंहोाद्वाीप परी सवा�कि�के क्षाेत्रफल मेंं  मेंैदाने केा किव�तुारी पाया 

�ातुा होै
3. मेंहोाद्वाीप केा सबासे उत्तरीी छोरी केेप मेंाइ� फ्ली�ेली  

होै। 

उपयाु�क्त मांं से लिकतनुं कथनु स�ी �ं?
(a) केेवल एके 
(b) केेवल दो 
(c) सभी तुीने 
(d) केोई नेहों 

Q 2. स्केंनि��ेनि�यू� प्राायूद्वीीप केे संंदर्भभ मेंं, नि�म्ननि�नि�त केथ�ं परो नि�चाारो 
केीनि�ए:
1. भौगोकिलके रूप से �केंकिडनेेकिवयने प्राायद्वाीप मेंं नेावे,  

�वीडने औरी उत्तरीी किफनेलैण्ड केो सस्तिम्मेंकिलतु किकेया गया  
होै 

2. सा�केृकितुके आ�ारी परी �केंकिडनेेकिवयने देशं केे अ�तुग�तु  
आइसलंड, औरी डेनेमेंाकेक केो भी सस्तिम्मेंकिलतु किकेया �ातुा  
होै।

उपयाु�क्त मांं से कौनु-सं/से स�ी �ै/�ं?
(a) केेवल 1 
(b) केेवल 2 
(c) 1 औरी 2 दोनें 
(d) ने तुो 1 औरी ने होी 2 

Q 3. नि�म्ननि�नि�त केथ�ं परो नि�चाारो केीनि�ए:
1. ए�तुोकिनेया, किलथुआकिनेया औरी लटााकिवया गणरीाज्यं  

केो बाास्ति�टाके रीाज्यं केे नेामें से �ानेा �ातुा  
होै। 

2. बाोकि�या-हो�ेगोकिवनेा, क्रोोएकिशया एव� �लोवेकिनेया  
देशं केो बाा�केने रीाज्य केे अ�तुग�तु शाकिमेंल किकेया �ातुा  
होै। 

उपयाु�क्त मांं से कौनु-सं/से स�ी �ै/�ं?

(a) केेवल 1 

(b) केेवल 2 

(c) 1 औरी 2 दोनें 

(d) ने तुो 1 औरी ने होी 2 

Q 1. With reference to Europe, consider the 
following statements:
1. In terms of area, Europe ranks fifth among 

the seven continents. 
2. The largest area of plains is found on this 

continent.
3. The northernmost tip of the continent is Cape 

Mize Flegely . 

How many of the above statements are 
correct?
(a) Only one 
(b) Only two 
(c) all three 
(d) none

Q 2. With reference to the Scandinavian Peninsula, 
consider the following statements:
1. Geographically, the Scandinavian Peninsula 

includes Norway, Sweden and Northern 
Finland. 

2. On cultural basis, Iceland and Denmark are 
also included under Scandinavian countries.

Which of the above is/are correct?
(a) only 1 
(b) only 2 
(c) both 1 and 2 
(d) neither 1 nor 2

Q 3. Consider the following statements:
1. The republics of Estonia, Lithuania  

and Latvia are known as the Baltic  
states. 

2. Bosnia-Herzegovina, Croatia and Slovenia 
countries are included under the Balkan  
state. 

Which of the above is/are correct?

(a) only 1 

(b) only 2 

(c) both 1 and 2 

(d) neither 1 nor 2
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Q 4. एनि�यूा मेंहााद्वीीप केे संंदर्भभ मेंं नि�म्ननि�नि�त केथ�ं परो नि�चाारो  
केीनि�ए:
1. एकिशया किवश्व केे सभी मेंहोाद्वाीपं मेंं दूसरीा सबासे बाड़ा मेंहोाद्वाीप  

होै। 
2. इसकेा क्षाेत्रफल किवश्व केे भू-भाग केा लगभग 29.8 प्राकितुशतु  

होै। 
3. यहो �नेस�ख्या घनेत्व मेंं किवश्व मेंं तुीसरीे �थाने परी होै। 

उपयाु�क्त मांं से लिकतनुं कथनु स�ी �ं?
(a) केेवल एके 
(b) केेवल दो 
(c) सभी तुीने 
(d) केोई नेहों 

Q 5. नि�म्ननि�नि�त मेंं संे केौ� एनि�यूा औरो यूूरोोप केे मेंध्यू संीमेंा नि�र्धााभरोण 
केरोते हां?
1. केालासागरी 
2. केैस्ति�पयने सागरी 
3. केाकेेशस पव�तु 

 कूट:
(a) केेवल 1 औरी 2 
(b) केेवल 2 औरी 3 
(c) केेवल 1 औरी 3 
(d) 1 , 2 औरी 3 

Q 6. एनि�यूा मेंहााद्वीीप केी र्भौगोोनि�के अ�स्थिस्थत केे संंदर्भभ मेंं नि�म्ननि�नि�त 
केथ�ं परो नि�चाारो केीनि�ए:
1. केेप किमेंस सेलुसकिकेने इसकेा सबासे उत्तरीी छोरी  

होै। 
2. केेप किमेंस किडनेेवा इसकेा सबासे पूवी किबान्दु  

होै। 
3. इसकेा सबासे बाड़ा प्राायद्वाीप अरीबा होै। 

उपयाु�क्त मांं से लिकतनुं कथनु स�ी �ं?
(a) केेवल एके 
(b) केेवल दो 
(c) सभी तुीने 
(d) केोई नेहों 

Q 7. एनि�यूा मेंहााद्वीीप केे र्भौगोोनि�के �गोीकेरोण केे संंदर्भभ मेंं नि�म्ननि�नि�त मेंं 
संे केौ� संहाी �हां हाै?
(a) ईरीाने, इरीाके, इ�रीाइल एव� �ोडडने दकिक्षाण पस्तिश्चामेंी एकिशया केे 

अ�तुग�तु आतुे हों। 
(b) तुुकेी तुथा रूस एकिशया एव� यूरीोप दोनें मेंहोाद्वाीपं मेंं स्ति�थतु हों। 
(c) यूरीोप केे एकिशयाई भाग केो ‘साइबाेरिरीया’ केहोा �ातुा होै।
(d) दकिक्षाण एकिशया क्षाेत्र मेंं लाओस एके मेंात्र �थल अवरूद्ध देश होै।

Q 4. Consider the following statements with 
reference to the continent of Asia:
1. Asia is the second largest continent among all 

the continents of the world. 
2. Its area is about 29.8 percent of the world’s 

land area. 
3. It ranks third in the world in population density. 

How many of the above statements are correct?
(a) Only one 
(b) Only two 
(c) all three 
(d) none

Q 5. Which of the following determines the boundary 
between Asia and Europe?
1. Kalasagar 
2. Caspian Sea 
3. Caucasus Mountains 

 Code:
(a) only 1 and 2 
(b) only 2 and 3 
(c) only 1 and 3 
(d) 1, 2 and 3

Q 6. Consider the following statements regarding the 
geographical location of the continent of Asia:
1. Cape Miss Seluskin is its northernmost tip. 
2. Cape Miss Dineva is its easternmost point. 
3. Its largest peninsula is Arabia. 

How many of the above statements are correct?
(a) only one 
(b) only two 
(c) all three 
(d) none

Q 7. Which of the following is not correct regarding 
the geographical classification of the continent 
of Asia?
(a) Iran, Iraq, Israel and Jordan come under 

South-Western Asia. 
(b) T�rkiye and Russia are located in both the 

continents of Asia and Europe. 
(c) The Asian part of Europe is called ‘Siberia’.
(d) Laos is the only landlocked country in the 

South Asia region.
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Q 8. नि�म्ननि�नि�त केथ�ं परो नि�चाारो केीनि�ए:
1. एकिशया मेंहोाद्वाीप केा सबासे किनेचाला भाग, केला सागरी  

होै। 
2. किवश्व केी सबासे ऊँँचाी चाोटाी मेंाउंटा एवरीे�टा (Mt. Everest) 

नेेपाल एव� भारीतु केी सीमेंा परी स्ति�थतु होै। 
3. पामेंीरी केी गा�ठ चाीने, अफगाकिने�तुाने तुथा तु�ाकिके�तुाने केी 

सीमेंा परी स्ति�थतु होै। 

उपयाु�क्त मांं से लिकतनुं कथनु स�ी �ं?
(a) केेवल एके 
(b) केेवल दो 
(c) सभी तुीने 
(d) केोई नेहों 

Q 9. मेंहाा द्वीीपीयू औरो मेंहाासंागोरोीयू र्भूपपभटीी केे संंदर्भभ मेंं नि�म्ननि�नि�त केथ�ं 
परो नि�चाारो केरों:
1. मेंहोाद्वाीपीय भूपप�टाी, मेंहोासागरीीय भूपप�टाी केी तुुलनेा मेंं अपेक्षााकेृतु 

केमें सघने होोतुी होै।
2. मेंहोाद्वाीपीय भूपप�टाी प्राकेृकितु मेंं ग्रेेनेाइकिटाके हों �बाकिके मेंहोासागरीीय 

भूपप�टाी प्राकेृकितु मेंं बाेसास्ति�टाके हों।

उपयाु�क्त कथनुं मांं से कौनु-सं/से स�ी �ै/�ं?
(a) केेवल 1
(b) केेवल 2
(c) 1 औरी 2 दोनें
(d) ने तुो 1 औरी ने होी 2

Q 10. ���ायूु �गोीकेरोण केे संंबंंर्धा मेंं नि�म्ननि�नि�त केथ�ं परो नि�चाारो  
केरों:
1. केोपेने नेे तुापमेंाने तुथा वर्ष�ण केे केुछ किनेस्तिश्चातु मेंानें  

केा चायने केरीतुे होुए उनेकेा वन्य�ीवं केे किवतुरीण से स�बा�� 
�थाकिपतु किकेया औरी इने मेंानें केा उपयोग �लवायु केे वगीकेरीण 
केे किलए किकेया।

2. वी. केोपेने द्वाारीा किवकेकिसतु केी गई �लवायु केे वगीकेरीण केी 
पद्धकितु आनेुभकिवके होै। 

 उपयाु�क्त कथनुं मांं से कौनु-सं/से स�ी �ै/�ं ?
(a) केेवल 1
(b) केेवल 2
(c) 1 औरी 2 दोनें
(d) ने तुो 1 औरी ने होी 2

Q 11. संाहाे� प्रादे� नि�म्ननि�नि�त मेंं संे निकेसं मेंहााद्वीीप संे संंबंंनिर्धात हाै?
(a) एकिशया
(b) अफ्रीीकेा
(c) ऑ�ट्रेेकिलया
(d) यूरीोप

Q 8. Consider the following statements:
1. The lowest part of the Asian continent is Kala 

Sagar. 
2. The world’s highest peak, Mount Everest, is 

located on the border of Nepal and India. 
3. The Knot of Pamir is situated on the border of 

China, Afghanistan and Tajikistan. 

How many of the above statements are correct?
(a) Only one 
(b) Only two 
(c) All three 
(d) None

Q 9. Consider the following statements with 
reference to continental and oceanic crust:
1. Continental crust is relatively less dense than 

oceanic crust.
2. Continental crust is granitic in nature while 

oceanic crust is basaltic in nature.

Which of the above statements is/are correct?
(a) only 1
(b) only 2
(c) both 1 and 2
(d) neither 1 nor 2

Q 10. Consider the following statements regarding 
climate classification:
1. K�oppen selected certain values of temperature 

and precipitation and established their 
relation with the distribution of wildlife and 
used these values for classification of climate.

2. The method of classification of climate 
developed by V. K�oppen is empirical. 

 Which of the above statements is/are correct?
(a) only 1
(b) only 2
(c) both 1 and 2
(d) neither 1 nor 2

Q 11. Sahel region belongs to which continent from  
the following?
(a) Asia
(b) Africa
(c) Australia
(d) Europe
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Q 12. नि�म्ननि�नि�त मेंं संे केौ�-संा/संे संहाी संुमेंेनि�त हां।
      दीेश   घांस के मांैदींनु

1. अमेंेरिरीकेा  प्राेयरीी�
2. यूरीेकिशया  �टाेपी�
3. ऑ�ट्रेेकिलया   केॅटारीबारीी
4. अ�ंटाीनेा  प�पा�

नुीचेे लिदीए गए कूट कं प्रयाोग कर स�ी उत्तर  
चेुलिनुए।
(a) केेवल 1 औरी 2
(b) केेवल 1, 2 औरी 3
(c) केेवल 2 औरी 3
(d) केेवल 1, 2 औरी 4

Q 13. त�ामेंी मेंरुस्थ� नि�म्ननि�नि�त मेंं संे निकेसं दे� संे संंबंंनिर्धात  
हाै?
(a) सूडाने
(b) मेंाली
(c) ऑ�ट्रेेकिलया
(d) केेन्या

Q 14. नि�म्ननि�नि�त मेंं संे केौ�-संी झीी�ं के�ा�ा मेंं अ�स्थिस्थत  
हां?
1. सुपीरिरीयरी झीील
2. ह्यूूरीॉने झीील
3. टाेक्सकेोकेॉ झीील
4. चापाला झीील

नुीचेे लिदीए गए कूट कं प्रयाोग कर स�ी उत्तर  
चेुलिनुए।
(a) केेवल 1 औरी 2
(b) केेवल 1 औरी 3
(c) केेवल 2 औरी 4
(d) केेवल 3 औरी 4

Q 15. नि�म्ननि�नि�त यूुग्मेंं परो नि�चाारो केीनि�ए:
     पवा�त    अवास्थि�थत 

1. �ूरीा पव�तु   फ्रीा�स
2. ए�बाग� पव�तु  �में�नेी
3. एपेनेाइने पव�तु  इटाली
4. वास�ेस पव�तु  �पेने 

 उपयाु�क्त मांं से लिकतनुं याुग्मां स�ी सुमांेलि�त �ं?
(a) केेवल एके 
(b) केेवल दो 
(c) केेवल तुीने 
(d) सभी चाारी  

Q 12. Which of the following is/are correctly matched?
      country   meadows

1. America   Prairies
2. Eurasia   Steppes
3. Australia   Catterbury
4. Argentine   Pampas

Select the correct answer using the code given 
below.
(a) 1 and 2 only
(b) 1, 2 and 3 only
(c) only 2 and 3
(d) 1, 2 and 4 only

Q 13. Tanami Desert belongs to which of the following 
countries?
(a) Sudan
(b) Mali
(c) Australia
(d) kenya

Q 14. Which of the following lakes are located in 
Canada?
1. Lake Superior
2. Lake Huron
3. Lake Texcoco
4. Lake Chapala

Select the correct answer using the code given 
below.
(a) only 1 and 2
(b) only 1 and 3
(c) only 2 and 4
(d) only 3 and 4

Q 15. Consider the following pairs:
  Mountain    Location 

1. Jura Mountains   France
2. Edberg Mountains   Germany
3. Apennine Mountains  Italy
4. Vasges Mountains    Spain 

 How many of the above pairs are correctly 
matched?
(a) Only one 
(b) Only two 
(c) only three 
(d) all four
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Q 16. यूूरोोप केी �निदयूं केे संंदर्भभ मेंं नि�म्ननि�नि�त केथ�ं परो नि�चाारो  
केीनि�ए:
1. टाेम्स नेदी केोट्सवो�ड पव�तु से किनेकेलकेरी उत्तरीी सागरी मेंं 

किगरीतुी होै। 
2. डेन्यूबा नेदी यूरीोप केी दूसरीी सबासे ल�बाी नेदी होै  

�ो, ब्लैके फारीे�टा पव�तु से किनेकेलकेरी उत्तरीी सागरी मेंं किगरीतुी  
होै। 

उपयाु�क्त मांं से कौनु सं/से स�ी �ै/�ं?
(a) केेवल 1 
(b) केेवल 2 
(c) 1 औरी 2 दोनें 
(d) ने तुो 1 औरी ने होी 2 

Q 17. नि�म्ननि�नि�त मेंं संे केौ�-संा केथ� संहाी �हां  
हाै?
(a) यूरीोप प्राकेीकिण�तु प्राकेारी केा मेंहोाद्वाीप होै।
(b) किवश्व केा रीोटाी केा डकिलया यूक्रोेने केे �टाेपी क्षाेत्र केो केहोा �ातुा 

होै।
(c) यूरीोप केा सवा�कि�के चाावल उत्पादके क्षाेत्र इटाली केा लोम्बााडी 

केा मेंैदाने होै। 
(d) यूरीोप मेंं चाीनेी प्राास्ति�तु केा प्रामेंुख स्रोोतु गन्नाा  

होै।

Q 18. यूूरोोपीयू दे�ं केो उ�केे क्षेेत्रफ� केे आर्धाारो परो संहाी अ�रोोहाी क्रमें 
केो चाुनि�यूे-
(a) फ्रीा�स - यूक्रोेने – �पेने - �वीडने
(b) �पेने - यूक्रोेने – फ्रीा�स - �वीडने
(c) फ्रीा�स - �वीडने – �पेने - यूक्रोेने
(d) �पेने - फ्रीा�स – यूक्रोेने - �वीडने

Q 19. नि�म्ननि�नि�त केथ�ं परो नि�चाारो केीनि�ए:
1. �में�नेी केी बाेसरी घाटाी, फ्रीा�स केा लॉरीेने  

क्षाेत्र औरी �वीडने केा किकेरूनेा यूरीोप  
केे प्रामेंुख लौहो अय�के उत्पादके क्षाेत्र  
हों। 

2. �में�नेी केा सारी, बावेरिरीया तुथा सैक्सोनेी औरी पोलंड 
केा साइलेकिशया यूरीोप केे प्रामेंुख केोयला उत्पादके क्षाेत्र  
हों।

उपयाु�क्त मांं से कौनु-सं/से स�ी �ै/�ं?
(a) केेवल 1 
(b) केेवल 2 
(c) 1 औरी 2 दोनें 
(d) ने तुो 1 औरी ने होी 2 

Q 16. Consider the following statements with 
reference to the rivers of Europe:
1. The River Thames originates from the Cotswold 

Mountains and falls into the North Sea. 
2. The Danube River is the second longest river 

in Europe, which originates from the Black 
Forest Mountains and falls into the North Sea. 

Which of the above is/are correct?
(a) only 1 
(b) only 2 
(c) both 1 and 2 
(d) neither 1 nor 2

Q 17. Which of the following statements is not 
correct?
(a) Europe is a scattered type of continent.
(b) The steppe region of Ukraine is called the 

breadbasket of the world.
(c) The most rice producing region of Europe is 

the Lombardy plain of Italy. 
(d) Sugarcane is the main source of sugar in 

Europe.

Q 18. Choose the correct descending order of 
European countries on the basis of their area-
(a) France – Ukraine – Spain – Sweden
(b) Spain – Ukraine – France – Sweden
(c) France – Sweden – Spain – Ukraine
(d) Spain – France – Ukraine – Sweden

Q 19. Consider the following statements:
1. Besser Valley of Germany, Lorraine 

region of France and Kiruna of Sweden are  
the major iron ore producing areas of  
Europe. 

2. Germany’s Saar, Bavaria and Saxony and 
Poland’s Silesia are the major coal producing 
areas of Europe.

Which of the above is/are correct?
(a) only 1 
(b) only 2 
(c) both 1 and 2 
(d) neither 1 nor 2
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Q 20. नि�म्ननि�नि�त यूुग्मेंं परो नि�चाारो केीनि�ए:
      संगर    अवास्थि�थलित

1. भूमेंध्य सागरी   यूरीोप औरी अफ्रीीकेा केो अलग  
   केरीतुा होै

2. बाास्ति�टाके सागरी   अटाला�किटाके मेंहोासागरी से सम्बाद्ध 
3. उत्तरीी सागरी   अटाला�किटाके मेंहोासागरी मेंं कि�टाेने केे  

   पूव�
4. आइरिरीश सागरी   अटाला�किटाके मेंहोासागरी मेंं ग्रेेटा कि�टाेने  

   औरी आयरीलंड केे मेंध्य 

उपयाु�क्त मांं से लिकतनुं याुग्मां स�ी सुमांेलि�त �ं?
(a) केेवल एके 
(b) केेवल दो 
(c) केेवल तुीने 
(d) सभी चाारी  

Q 21. नि�म्ननि�नि�त मेंं संे केौ�-संी झीी�ं यूूरोोप मेंं अ�स्थिस्थत  
हां?
1. गाडा� झीील
2. आइ�ेसेल झीील
3. ओनेे�े�केोय (ओनेेगा)
4. केान्सेटाेन्स झीील

कूट;
(a) केेवल 1 औरी 2 
(b) केेवल 2 औरी 3 
(c) केेवल 1 औरी 3 
(d) उपयु�क्तु सभी  

Q 22. नि�म्ननि�नि�त यूुग्मेंं परो नि�चाारो केीनि�ए:
      जी�स�लि�यां�     अवास्थि�थलित 

1. डोवरी �ल स�कि�   -  इ�स्ति�लश चाैनेल एव� उत्तरीी  
    सागरी 

2. कि��ा�टारी �लसस्तिन्�  -  भूमेंध्यसागरी औरी  
    अटाला�किटाके मेंहोासागरी

3. बाोनेीफेकिसयो �लसस्तिन्�  -  टााइरीेकिनेयने सागरी औरी  
    भूमेंध्यसागरी

4. बाासपोरीस �लसस्तिन्�  –  बाास्ति�टाके सागरी औरी  
    मेंरीमेंरीा सागरी

उपयाु�क्त मांं से लिकतनुं याुग्मां स�ी सुमांेलि�त नु�ं  
�ं?
(a) केेवल एके 
(b) केेवल दो 
(c) केेवल तुीने 
(d) सभी चाारी  

Q 20. Consider the following pairs:
      Ocean   location

1. Mediterranean Sea  Separates Europe and  
   Africa

2. Baltic Sea   Associated with the  
   Atlantic Ocean

3. North Sea   east of Britain in the  
   Atlantic Ocean

4. Irish Sea   In the Atlantic Ocean  
   between Great Britain  
   and Ireland 

 How many of the above pairs are correctly matched?
(a) Only one 
(b) Only two 
(c) only three 
(d) all four

Q 21. Which of the following lakes are located in 
Europe?
1. Lake Garda
2. IJssel Lake
3. Onezhskoye (Onega)
4. Lake Consetance

Code;
(a) 1 and 2 only 
(b) 2 and 3 only 
(c) 1 and 3 only 
(d) all of the above

Q 22. Consider the following pairs:
  water treaties       location 

1. Dover Water - English Channel and
     Treaty  North Sea

2. Strait of - Mediterranean Sea and
      Gibraltar  Atlantic Ocean

3. Bonifacio - Tyrrhenian Sea and 
      Strait Mediterranean Sea

4. Bosporus Strait - Baltic Sea and Marmara 
   Sea

 How many of the above pairs are not correctly 
matched?
(a) only one 
(b) only two 
(c) only three 
(d) all four
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Q 23. निटीरोभहाेनि�यू�, अनि�एनिटीके ए�ं एनि�यू� नि�म्ननि�नि�त मेंं संे निकेसं संागोरो 
केी �ानि�यूा� हां? 
(a) भूमेंध्य सागरी
(b) केाला सागरी 
(c) उत्तरीी सागरी 
(d) केैस्ति�पयने सागरी 

Q 24. र्भूमेंध्यू संागोरो केे संंदर्भभ मेंं, नि�म्ननि�नि�त केथ�ं परो नि�चाारो  
केीनि�ए:
1. यहो दकिक्षाण मेंं अफ्रीीकेा, उत्तरी मेंं यूरीोप तुथा पूव� मेंं एकिशया 

मेंहोाद्वाीप से किघरीा होुआ एके बा�द सागरी होै। 
2. यहो टाेकिथस सागरी केा होी अवकिशष्टा भाग होै। 

उपयाु�क्त मांं से कौनु सं/से स�ी �ै/�ं?
(a) केेवल 1 
(b) केेवल 2 
(c) 1 औरी 2 दोनें 
(d) ने तुो 1 औरी ने होी 2 

Q 25. नि�म्ननि�नि�त मेंं संे केौ� र्भूमेंध्यू संागोरो केे तटी परो अ�स्थिस्थत   
हां?
1. अ�बााकिनेया
2. मेंंटाेनेेग्रेो
3. बाोकि�या-हो�ेगोकिवनेा
4. क्रोोएकिशया
5. �लोवेकिनेया

कूट:
(a) केेवल 1 औरी 2 
(b) केेवल 2, 3 औरी 5
(c) केेवल 1,3 औरी 4
(d) 1 , 2, 3 ,4 औरी 5

Q 26. नि�म्ननि�नि�त मेंं संे केौ�-संी �निदयूां र्भूमेंध्यू संागोरो मेंं निगोरोती   
हां?
1. नेील
2. टााइवरी
3. पो
4. रीोने
5. इ�ो 

कूट:
(a) केेवल 1,2 औरी 3
(b) केेवल 1,2, 3 औरी 5
(c) केेवल 1,3,4 औरी 5
(d) 1 , 2, 3 ,4 औरी 5

Q 23. Tyrrhenian, Adriatic and Aegean are the gulfs 
of which of the following seas? 
(a) Mediterranean Sea
(b) Black Sea 
(c) The North Sea 
(d) Caspian Sea

Q 24. With reference to the Mediterranean Sea, 
consider the following statements:
1. It is a closed ocean surrounded by Africa in the 

south, Europe in the north and Asia in the east. 
2. This is the residual part of Tethys Sea. 

Which of the above is/are correct?
(a) only 1 
(b) only 2 
(c) both 1 and 2 
(d) Neither 1 nor 2

Q 25. Which of the following is situated on the coast 
of the Mediterranean Sea?
1. Albania
2. Montenegro
3. Bosnia-Herzegovina
4. Croatia
5. Slovenia

 Code:
(a) 1 and 2 only 
(b) Only 2, 3 and 5
(c) 1,3 and 4 only
(d) 1, 2, 3, 4 and 5

Q 26. Which of the following rivers drain into the 
Mediterranean Sea?
1. Blue
2. Tiwar
3. Poe
4. Ron
5. Ebro 

Code:
(a) Only 1,2 and 3
(b) Only 1,2, 3 and 5
(c) Only 1,3,4 and 5
(d) 1, 2, 3, 4 and 5
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Q 27. अफ्रीीकेा मेंहााद्वीीप केे संंदर्भभ मेंं, नि�म्ननि�नि�त केथ�ं परो नि�चाारो  
केीनि�ए:
1. अफ्रीीकेा केा दो-कितुहोाई किहो�सा उत्तरीी गोला�� मेंं  

औरी एके-कितुहोाई किहो�सा दकिक्षाणी गोला�� मेंं स्ति�थतु  
होै। 

2. यहो एकेमेंात्र मेंहोाद्वाीप होै कि�सकेे मेंध्य से केकेक  
रीेखा, भूमेंध्य रीेखा, औरी मेंकेरी रीेखा गु�रीतुी  
हों। 

3. सवानेा इस मेंहोाद्वाीप मेंं पाया �ानेे वाला एके  
घनेा वने क्षाेत्र होै �ो अफ्रीीकेा केे लगभग आ�े किहो�से मेंं फैला  
होै। 

उपयाु�क्त मांं से कौनु-से स�ी �ं?
(a) केेवल 1 औरी 2 
(b) केेवल 2 औरी 3 
(c) केेवल 1 औरी 3 
(d) 1 , 2 औरी 3 

Q 28. अफ्रीीकेा मेंहााद्वीीप केे संंदर्भभ मेंं, नि�म्ननि�नि�त केथ�ं परो नि�चाारो  
केीनि�ए:
1. अफ्रीीकेा केे उष्ण घास केे मेंैदाने ‘सवानेा’  

औरी शीतुोष्ण घास केे मेंैदाने वे�ड्स केहोलातुे  
हों।

2. अफ्रीीकेा केे केा�गो प्रा�ातुास्तिन्त्रके गणरीाज्य केो वनें केा देश केहोा 
�ातुा होै। 

3. अफ्रीीकेा मेंं सवा�कि�के �नेस�ख्या वाला देश नेाइ�ीरिरीया  
होै।  

उपयाु�क्त मांं से लिकतनुं कथनु स�ी नु�ं �ं?
(a) केेवल एके 
(b) केेवल दो 
(c) सभी तुीने 
(d) केोई नेहों 

Q 29. नि�म्ननि�नि�त केथ�ं परो नि�चाारो केीनि�ए:
1. किवश्व मेंं अफ्रीीकेा सबासे अकि�के �नेस�ख्या-वृकिद्ध दरी वाला 

मेंहोाद्वाीप होै। 
2. अफ्रीीकेा मेंं सेसे�स मेंं साक्षारीतुा केा प्राकितुशतु सवा�कि�के  

होै। 

उपयाु�क्त मांं से कौनु-सं/से स�ी �ै/�ं?
(a) केेवल 1 
(b) केेवल 2 
(c) 1 औरी 2 दोनें 
(d) ने तुो 1 औरी ने होी 2 

Q 27. With reference to the continent of Africa, 
consider the following statements:
1. Two-thirds part of Africa is located in the 

Northern Hemisphere and one-third is located 
in the Southern Hemisphere. 

2. It is the only continent through which the 
Tropic of Cancer, the Equator, and the Tropic 
of Capricorn pass. 

3. Savanna is a dense forest area found in  
this continent which covers almost half of 
Africa. 

Which of the above are correct?
(a) 1 and 2 only 
(b) 2 and 3 only
(c) 1 and 3 only 
(d) 1, 2 and 3

Q 28. With reference to the continent of Africa, 
consider the following statements:
1. The tropical grasslands of Africa are called 

‘Savannas’ and the temperate grasslands are 
called ‘Veldes’.

2. The Democratic Republic of Congo in Africa 
is called a country of forests. 

3. The most populous country in Africa is 
Nigeria.  

How many of the above statements are not 
correct?
(a) only one 
(b) only two 
(c) all three 
(d) none

Q 29. Consider the following statements:
1. Africa is the continent with the highest 

population growth rate in the world. 
2. Seychelles has the highest percentage of 

literacy in Africa. 

Which of the above is/are correct?
(a) only 1 
(b) only 2 
(c) Both 1 and 2 
(d) Neither 1 nor 2
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Q 30. अफ्रीीकेा मेंहााद्वीीप मेंं अ�स्थिस्थत बंांर्धां केे संंदर्भभ मेंं नि�म्ननि�नि�त केथ�ं 
परो नि�चाारो केीनि�ए:
1. अ�वाने बाा�� किमेंस्रो मेंं नेील नेदी परी अवस्ति�थतु अफ्रीीकेा केा सबासे 

ऊँँचाा बाा�� होै।  
2. “केहोोरीा बाासा बाा��” मेंो�ास्तिम्बाके मेंं �ाम्बाे�ी नेदी परी किनेकिमें�तु  

होै। 
3. सेन्नाारी बाा�� सूडाने मेंं नेील नेदी परी  

अवस्ति�थतु। 

उपयाु�क्त मांं से लिकतनुं कथनु स�ी नु�ं �ं?
(a) केेवल एके 
(b) केेवल दो 
(c) सभी तुीने 
(d) केोई नेहों 

Q 31. नि�म्ननि�नि�त केथ�ं परो नि�चाारो केीनि�ए:
     अफ्रीीकं की तटीया रेखेंं  दीेश

1. खाद्यान्ना तुटाीय रीेखा  -  किसयरीा किलयोने एव� 
(Grain coast)   लाइबाेरिरीया

2. आइवरीी तुटाीय रीेखा -  आइवरीी केो�टा
      (Ivory coast)

3. �वण� तुटाीय रीेखा   -     टाोगो, बाेकिनेने एव�
     (Gold coast)  नेाइ�ीरिरीया

4. दास तुटाीय रीेखा  -  घानेा 
     (Slave coast)  

उपयाु�क्त मांं से लिकतनुं याुग्मां स�ी सुमांेलि�त �ं?
(a) केेवल एके 
(b) केेवल दो 
(c) केेवल तुीने 
(d) सभी चाारी 

Q 32. अफ्रीीकेा मेंहााद्वीीप केे पठाारों केे संंदर्भभ मेंं, नि�म्ननि�नि�त केथ�ं परो 
नि�चाारो केीनि�ए:
1. सोमेंाली पठारी पेट्रेोकिलयमें स�सा�ने सम्पन्ना क्षाेत्र इकिथयोकिपयाई 

उच्च भूकिमें केे पूवी भाग मेंं स्ति�थतु होै।
2. केटांगा पठारी केा�गो एव� �ायरीे नेकिदयं केा उद्गमें  

क्षाेत्र होोनेे केे साथ होी तुा�बाा एव� होीरीा केे उत्पादने होेतुु प्राकिसद्ध  
होै। 

3. �ॉस केा पठारी खकिने� भण्डारी होेतुु प्राकिसद्ध होै। 

उपयाु�क्त कथनुं मांं से कौनु-से स�ी �ं?
(a) केेवल 1 औरी 2 
(b) केेवल 2 औरी 3 
(c) केेवल 1 औरी 3 
(d) 1 , 2 औरी 3 

Q 30. Consider the following statements with reference 
to dams located in the African continent:
1. Aswan Dam is the highest dam in Africa 

located on the Nile River in Egypt.  
2. “Cahora Bassa Dam” is built on the Zambezi 

River in Mozambique. 
3. Sennar Dam is located on the Nile River in 

Sudan. 

How many of the above statements are not correct?
(a) only one 
(b) only two 
(c) all three 
(d) none

Q 31. Consider the following statements:
     African coastline   Countries

1. Grain coast   – Sierra Leone and  
          Liberia

2. Ivory Coast   -     Ivory Coast
3. Gold Coast   - Togo, Benin and  

        Nigeria
4. Slave Coast   -    Ghana

How many of the above pairs are correctly 
matched?
(a) Only one 
(b) Only two 
(c) only three 
(d) all four

Q 32. With reference to the plateaus of the African 
continent, consider the following statements:
1. The Somali Plateau, a petroleum resource 

rich region, is located in the eastern part of 
the Ethiopian highlands.

2. Katanga Plateau, besides being the origin 
area of Congo and Zaire rivers, is famous for 
the production of copper and diamonds. 

3. Jos plateau is famous for mineral deposits. 
 Which of the above statements are correct?

(a) 1 and 2 only 
(b) 2 and 3 only
(c) 1 and 3 only 
(d) 1, 2 and 3
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Q 33. नि�म्ननि�नि�त केथ�ं परो नि�चाारो केीनि�ए:
1. अफ्रीीकेी देशं मेंं �न्में दरी केाफी ऊँँचाी होै  

परीन्तुु किपछले केुछ दशकें से मेंृत्यु-दरी मेंं केमेंी होुई  
होै

2. अफ्रीीकेा मेंहोाद्वाीप, �नेसा�स्तिख्यकेी परिरीवतु�ने केी दूसरीी अव�था 
मेंं होै। 

उपयाु�क्त मांं से कौनु-सं/से स�ी �ै/�ं?
(a) केेवल 1 
(b) केेवल 2 
(c) 1 औरी 2 दोनें 
(d) ने तुो 1 औरी ने होी 2 

Q 34. नि�म्ननि�नि�त परो नि�चाारो केीनि�ए:

    कंल्पलिनुक रेखेंंए�  अवास्थि�थत दीेश 
1. केकेक रीेखा  - किमें�त्र, लीकिबाया, अ��ीरिरीया,  

   मेंाली, मेंॉरिरीटााकिनेया, पस्तिश्चामेंी  
   सहोारीा 

2. मेंकेरी रीेखा  -  मेंेड ाग ा�केरी,  मेंो�ा स्ति म्बाके,  
  दकिक्षाणअफ्रीीकेा,  बा ो त्सवानेा ,  
   ने ामेंी किबाया 

3. किवर्षुवतु रीेखा  - बाुकिकेकनेा फासो, टाोगो, घानेा 

उपयाु�क्त मांं से कौनु-से याुग्मां स�ी सुमांेलि�त  
�ं?
(a) केेवल 1 औरी 2 
(b) केेवल 2 औरी 3 
(c) केेवल 1 औरी 3 
(d) 1 , 2 औरी 3 

Q 35. नि�म्ननि�नि�त केथ�ं परो नि�चाारो केीनि�ए
1. अफ्रीीकेा मेंहोाद्वाीप केे अकि�केा�श �रीातुल केा  

किनेमेंा�ण प्राीकेैस्तिम्�यने युगीने चाट्टाानें से होुआ  
होै। 

2. इस मेंहोाद्वाीप केा एके मेंात्र मेंोड़दारी पव�तु एटालस  
होै। 

3. अफ्रीीकेा केी ग्रेेटा रिरीफ्टा-घाटाी एके मेंहोाद्रोोणी  
होै, औरी लाल सागरी इसी मेंहोाद्रोोणी केा भाग  
होै। 

उपयाु�क्त मांं से लिकतनुं स�ी �ं?
(a) केेवल एके 
(b) केेवल दो 
(c) सभी तुीने 
(d) केोई नेहों 

Q 33. Consider the following statements:
1. The birth rate in African countries is quite 

high but the death rate has decreased in the 
last few decades.

2. The African continent is in the second stage 
of demographic transition. 

Which of the above is/are correct?
(a) only 1 
(b) only 2 
(c) both 1 and 2 
(d) Neither 1 nor 2

Q 34. Consider the following:

 imaginary lines  located countries 
1. Tropic of - Egypt, Libya, Algeria, 

Cancer  Mali, Mauritania, 
   Western Sahara

2. Tropic of  - Madagascar, Mozambique,  
Capricorn  South Africa, Botswana, 
   Namibia 

3. Equator - Burkina Faso, Togo, Ghana

Which of the above pairs are correctly 
matched?
(a) 1 and 2 only 
(b) 2 and 3 only 
(c) 1 and 3 only 
(d) 1, 2 and 3

Q 35. Consider the following statements
1. Most of the surface of the African  

continent is formed from Precambrian age 
rocks. 

2. The only curved mountain of this continent 
is Atlas. 

3. The Great Rift Valley of Africa is a super 
basin. and The Red Sea is a part of this super  
basin. 

How many of the above are correct?
(a) Only one 
(b) Only two 
(c) all three 
(d) None
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Q 36. अफ्रीीकेा केी नि�म्ननि�नि�त झीी�ं केे उ�केे क्षेेत्रफ�  
केे आर्धाारो परो संहाी अ�रोोहाी क्रमें केो चाुनि�यूे-
(a) न्यासा झीील - टाा�गाकिनेकेा झीील – चााड झीील - नेाकिसरी  

झीील
(b) टाा�गाकिनेकेा झीील - न्यासा झीील – चााड झीील - नेाकिसरी  

झीील
(c) चााड झीील - न्यासा झीील – टाा�गाकिनेकेा झीील - नेाकिसरी  

झीील
(d) नेाकिसरी झीील - न्यासा झीील – चााड झीील - टाा�गाकिनेकेा  

झीील

Q 37. उत्तरोी अमेंेरिरोकेा केे संंदर्भभ मेंं, नि�म्ननि�नि�त केथ�ं परो नि�चाारो  
केीनि�ए:
1. उत्तरीी अमेंेरिरीकेा केी �ल-प्रावाहो प्राणाली  

केे किने�ा�रीण मेंं रीॉकेी पव�तु केी मेंहोत्त्वपूण� भूकिमेंकेा  
होै। 

2. आकेककिटाके मेंहोासागरीीय �ल प्रावाहो प्राणाली केा किव�तुारी उत्तरीी 
अमेंेरिरीकेा केे दकिक्षाणी भाग तुके होै। 

 उपयाु�क्त मांं से कौनु-सं/से स�ी �ै/�ं?
(a) केेवल 1 
(b) केेवल 2 
(c) 1 औरी 2 दोनें 
(d) ने तुो 1 औरी ने होी 2 

Q 38. उत्तरोी अमेंेरिरोकेा केी ���ायूु केे संंदर्भभ मेंं नि�म्ननि�नि�त केथ�ं परो 
नि�चाारो केीनि�ए:
1. यहो मेंहोाद्वाीप उष्ण एव� शीतु दोनें केकिटाबा��ं मेंं फैला  

होै। 
2. अन्तुरी उष्णकेकिटाबान्�ीय अकिभसरीण मेंेखला केे किखसकेाव केे साथ 

ग्रेीष्में ऋ तुु केे �ुलाई मेंाहो मेंं 200C केी समेंतुाप रीेखा उत्तरीी 
अमेंेरिरीकेा केे मेंध्य से होोकेरी गु�रीतुी होै। 

3. पस्तिश्चामेंी तुटा परी लै�ोडोरी ठण्डी �ारीा केे केारीण  
तुापमेंाने नेीचाे किगरी �ातुा होै �बाकिके पस्तिश्चामेंी तुटा परी  
प्राशान्तु कि�फ्टा केी �ारीा तुापमेंाने केो ऊँँचाा केरी देतुी  
होै। 

 उपयाु�क्त मांं से लिकतनुं कथनु स�ी �ं?
(a) केेवल एके 
(b) केेवल दो 
(c) सभी तुीने 
(d) केोई नेहों 

Q 39. चााकेो केा मेंदैा� नि�म्ननि�नि�त मंें सं ेनिकेसं द�े केा केपासं उत्पादके क्षेते्र  
हा?ै
(a) �ा�ील  
(b) अ�ंटाीनेा 
(c) किचाली 
(d) बाोकिलकिवया 

Q 36. Choose the correct descending order of the 
following lakes of Africa on the basis of their area:
(a) Lake Nyasa – Lake Tanganyika – Lake Chad 

– Lake Nasser
(b) Lake Tanganyika – Lake Nyasa – Lake Chad 

– Lake Nasser
(c) Lake Chad – Lake Nyasa – Lake Tanganyika 

– Lake Nasser
(d) Lake Nasser – Lake Nyasa – Lake Chad – 

Lake Tanganyika

Q 37. With reference to North America, consider the 
following statements:
1. The Rocky Mountains play an important 

role in determining the water flow system of 
North America. 

2. The Arctic Ocean Water Flow System extends 
to the southern part of North America. 

 Which of the above is/are correct?
(a) only 1 
(b) only 2 
(c) both 1 and 2 
(d) Neither 1 nor 2

Q 38. Consider the following statements with 
reference to the climate of North America:
1. This continent is spread in both hot and cold 

regions. 
2. With the shift of the intertropical convergence 

zone, the 200C isotherm passes through the 
middle of North America in the month of July. 

3. On the west coast, the temperature drops due 
to the Labrador cold current, whereas on the 
west coast, the Pacific Drift current increases 
the temperature. 

 How many of the above statements are correct?
(a) only one 
(b) only two 
(c) all three 
(d) none

Q 39. Chaco Plain is the cotton producing area of 
which of the following countries?
(a) Brazil  
(b) argentina 
(c) chile 
(d) Bolivia
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Q 40. उत्तरोी अमेंेरिरोकेा केे पठाारों केे संंदर्भभ मेंं नि�म्ननि�नि�त केथ�ं परो नि�चाारो 
केीनि�ए:
1. लारींकिशया पठारी खकिने� स�सा�ने से सम्पन्ना पठारी  

होै।  
2. मेंेस्तिक्सकेो केा पठारी पस्तिश्चामेंी एव� पूवी किसयरीा मेंाद्रोे  

पव�तु श्रेेकिणयं केे मेंध्य स्ति�थतु अ�तुप�व�तुीय पठारी  
होै। 

3. केोल�किबाया पठारी रीॉकेी एव� केा�केेड श्रेेकिणयं केे मेंध्य स्ति�थतु 
अ�तुप�व�तुीय पठारी होै। 

उपयाु�क्त मांं से लिकतनुं कथनु स�ी �ं?
(a) केेवल एके 
(b) केेवल दो 
(c) सभी तुीने 
(d) केोई नेहों 

Q 41. पथृ्�ी केी आतंरिरोके संरंोचा�ा केे संदंर्भभ मंें नि�म्ननि�नि�त यूगु्मेंं परो नि�चाारो 
केीनि�ए-
1. मेंोहोो असा�तुत्य - क्रो�टा औरी मेंंटाल केे बाीचा। 
2. गुटाेनेबाग� असा�तुत्य - मेंंटाल औरी क्रोोड केे बाीचा।
3. लेहोमेंैने असा�तुत्य - बााहोरीी क्रोोड औरी आ�तुरिरीके मेंंटाल केे  

बाीचा। 

उपयाु�क्त मांं से लिकतनुं याुग्मां स�ी सुमांेलि�त �ं?
(a) केेवल एके  
(b) केेवल दो  
(c) सभी तुीने 
(d) केोई नेहों 

Q 42. नि�म्ननि�नि�त केथ�ं परो नि�चाारो केीनि�ए:
1. वेनेे�ुएला केे उष्ण केकिटाबा��ीय सवानेा घास केे मेंैदानें केो 

लानेोस केहोा �ातुा होै। 
2. अ�ेटाीनेा केे शीतुोष्ण केकिटाबा��ीय घास केे मेंैदाने केो पम्पास 

केहोतुे हों।
 उपयाु�क्त मांं से कौनु-सं/से स�ी �ै/�ं?

(a) केेवल 1   (b) केेवल 2 
(b)  1 औरी 2 दोनें   (d) ने तुो 1 औरी ने होी 2 

Q 43. �नैिटी� अमेंरेिरोकेा क्षेते्र मंें नि�म्ननि�नि�त मंें सं ेनिकेसं े�ानिमें� निकेयूा �ाता हा?ै
1. दकिक्षाणी अमेंेरिरीकेा 
2. मेंध्य अमेंेरिरीकेा
3. पस्तिश्चामेंी द्वाीप समेंूहो 

 कूट:
(a) केेवल 1 औरी 2  
(b) केेवल 2 औरी 3
(c) केेवल 1 औरी 3 
(d) 1,2 औरी 3 

Q 40. Consider the following statements with 
reference to the plateaus of North America:
1. Laurentia Plateau is a plateau rich in mineral 

resources.  
2. The Mexican Plateau is an intermountain 

plateau located between the western and 
eastern Sierra Madre mountain ranges. 

3. The Columbia Plateau is an intermountain plateau 
located between the Rocky and Cascade ranges. 

 How many of the above statements are correct?
(a) only one 
(b) only two 
(c) all three 
(d) none

Q 41. Consider the following pairs with reference to 
the internal structure of the Earth:
1. Moho discontinuity – between the crust and 

the mantle. 
2. Gutenberg discontinuity – between the 

mantle and the core.
3. Lehmann discontinuity – between the outer 

core and inner mantle. 
 How many of the above pairs are correctly matched?

(a) only one  
(b) only two  
(c) all three 
(d) none

Q 42. Consider the following statements:
1. The tropical savanna grasslands of Venezuela 

are called Llanos. 
2. The temperate grasslands of Argentina are 

called Pampas.  
 Which of the above is/are correct?

(a) only 1   (b) only 2 
(c) both 1 and 2  (d) Neither 1 nor 2

Q 43. Which of the following is included in the Latin 
America region?
1. South America 
2. Central America
3. Western Islands 

 Code:
(a) 1 and 2 only   (b) 2 and 3 only
(c) 1 and 3 only  (d) 1,2 and 3
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Q 44. दनिक्षेणी अमेंेरिरोकेा मेंहााद्वीीप केे एण्�ी� प�भतमेंा�ा  
केे संंदर्भभ मेंं नि�म्ननि�नि�त केथ�ं परो नि�चाारो  
केीनि�ए:
1. यहो नेवीने मेंोड़दारी पव�तु श्रेृ�खला होै। 
2. यहो पव�तुमेंाला किवश्व केी सबासे ल�बाी पव�तु श्रेृ�खला  

होै।
3. एकेा�केागुआ एण्डी� केी सवोच्च चाोटाी होै 

 उपयाु�क्त मांं से लिकतनुं स�ी �ं?
(a) केेवल एके  
(b) केेवल दो  
(c) सभी तुीने 
(d) केोई नेहों  

Q 45. नि�म्ननि�नि�त केथ�ं परो नि�चाारो केीनि�ए:
1. मेंरीैकेेबाो झीील वेनेे�ुएला केे उत्तरी मेंं स्ति�थतु प्रामेंुख तुेल उत्पादके 

क्षाेत्र होै।
2. किटाकिटाकेाकेा झीील बाोकिलकिवया एव� पेरू केे मेंध्य अवस्ति�थतु किवश्व 

केी सबासे ऊँँचाी नेौगम्य झीील होै।  
 उपयाु�क्त मांं से कौनु-सं/से स�ी �ै/�ं?

(a) केेवल 1 
(b) केेवल 2 
(c) 1 औरी 2 दोनें 
(d) ने तुो 1 औरी ने होी 2 

Q 46. अमेंे�� �दी केे संंदर्भभ मेंं नि�म्ननि�नि�त केथ�ं परो नि�चाारो  
केीनि�ए:
1. यहो नेदी एण्डी� पव�तु से किनेकेलकेरी पूव� केी ओरी बाहोतुी होुई 

अटालास्तिण्टाके मेंहोासागरी मेंं किगरी �ातुी होै।
2. लम्बााई तुथा अपवाहो क्षाेत्र केी दृस्तिष्टा से किवश्व मेंं इसकेा प्राथमें 

�थाने होै।  

उपयाु�क्त मांं से कौनु-सं/से स�ी �ै/�ं?
(a) केेवल 1 
(b) केेवल 2 
(c) 1 औरी 2 दोनें 
(d) ने तुो 1 औरी ने होी 2 

Q 47. दनिक्षेण अमेंेरिरोकेा मेंहााद्वीीप केे संंदर्भभ मेंं नि�म्ननि�नि�त केथ�ं परो नि�चाारो 
केीनि�ए:
1. दकिक्षाणी अमेंेरिरीकेा खकिने� सम्पदा केी दृस्तिष्टा से समेंृद्ध होै।
2. वनेे�ेएुला इस मेंहोाद्वाीप केा सबासे बाड़ा पटे्रेोकिलयमें उत्पादके दशे  

हो।ै
 उपयाु�क्त मांं से कौनु-सं/से स�ी �ै/�ं?

(a) केेवल 1 
(b) केेवल 2 
(c) 1 औरी 2 दोनें 
(d) ने तुो 1 औरी ने होी 2 

Q 44. Consider the following statements with 
reference to the Andes mountain range of the 
South American continent:
1. This is a new folded mountain range. 
2. This mountain range is the longest mountain 

range in the world.
3. Aconcagua is the highest peak of the Andes 

 How many of the above are correct?
(a) Only one  
(b) Only two  
(c) all three 
(d) None

Q 45. Consider the following statements:
1. Lake Maracaibo is a major oil producing area 

located in the north of Venezuela.
2. Lake Titicaca is the world’s highest navigable 

lake located between Bolivia and Peru.  
 Which of the above is/are correct?

(a) only 1 
(b) only 2 
(c) Both 1 and 2 
(d) Neither 1 nor 2

Q 46. Consider the following statements with 
reference to the Amazon River:
1. This river originates from the Andes 

Mountains and flows towards the east and 
falls into the Atlantic Ocean.

2. It ranks first in the world in terms of length 
and drainage area.  

 Which of the above is/are correct?
(a) only 1 
(b) only 2 
(c) Both 1 and 2 
(d) Neither 1 nor 2

Q 47. Consider the following statements with 
reference to the continent of South America:
1. South America is rich in mineral resources.
2. Venezuela is the largest petroleum producing 

country in this continent.  
 Which of the above is/are correct?

(a) only 1 
(b) only 2 
(c) Both 1 and 2 
(d) Neither 1 nor 2
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Q 48. ऑस्ट्रेेनि�यूा केी ��स्पनित केे संंदर्भभ मेंं नि�म्ननि�नि�त केथ�ं परो नि�चाारो 
केीनि�ए:
1. यहोा� केी वने�पकितु मेंुख्यतुः वर्षा� केे द्वाारीा किनेय�कित्रतु होोतुी होै।
2. यहोा� उष्ण केकिटाबा��ीय सदाबाहोारीी वने, पतुझीड़ वाले वने वृक्षा भी 

पाए �ातुे हों।  
 उपयाु�क्त मांं से कौनु-सं/से स�ी �ै/�ं?

(a) केेवल 1 
(b) केेवल 2 
(c) 1 औरी 2 दोनें 
(d) ने तुो 1 औरी ने होी 2 

Q 49. नि�म्ननि�नि�त यूुग्मेंं परो नि�चाारो केीनि�ए:
     नुलिदीयां�     लिवालिशष्टतंए�  

1. किवक्टाोरिरीया नेदी -  उत्तरीी ऑ�ट्रेेकिलया केी यहो नेदी  
   वोनेापाटाड केी खाड़ी मेंं किगरीतुी  
   होै।

2. डाकिलंग नेदी -  यहो ऑ�ट्रेेकिलया केी सबासे बाड़ी  
   नेदी होै।

3. मेंरीे नेदी -  ग्रेेटा किडवाकिडंग रीं� से किनेकेलकेरी  
   दकिक्षाणी मेंहोासागरी मेंं किगरीतुी  
   होै।

उपयाु�क्त मांं से लिकतनुं याुग्मां स�ी सुमांेलि�त �ं?
(a) केेवल एके 
(b) केेवल दो 
(c) सभी तुीने 
(d) केोई नेहों  

Q 50. ऑस्ट्रेेनि�यूा मेंहााद्वीीप केे संंदर्भभ मेंं, नि�म्ननि�नि�त केथ�ं परो नि�चाारो 
केीनि�ए:
1. ऑ�ट्रेेकिलया मेंहोाद्वाीप पूण�तुः दकिक्षाणी गोलाद्ध� मेंं स्ति�थतु होै।
2. केकेक रीेखा इसकेे मेंध्य से होोकेरी गु�रीतुी होै।

उपयाु�क्त मांं से कौनु-सं/से स�ी �ै/�ं?
(a) केेवल 1 
(b) केेवल 2 
(c) 1 औरी 2 दोनें 
(d) ने तुो 1 औरी ने होी 2 

Q 48. Consider the following statements with 
reference to the vegetation of Australia:
1. The vegetation here is mainly controlled by rainfall.
2. Tropical evergreen forests and deciduous 

forest trees are also found here.  
 Which of the above is/are correct?

(a) only 1 
(b) only 2 
(c) Both 1 and 2 
(d) Neither 1 nor 2

Q 49. Consider the following pairs:
 Rivers    Specifications  

1. Victoria River-  This river of Northern  
   Australia falls into  
   Wonnaparte Bay.

2. Darling River-  It is the largest river of  
   Australia.

3. Murray River- Originates from the  
   Great Dividing Range  
   and falls into the  
   Southern Ocean.

 How many of the above pairs are correctly matched?
(a) Only one 
(b) Only two 
(c) all three 
(d) None

Q 50. With reference to the continent of Australia, 
consider the following statements:
1. The continent of Australia is completely 

located in the southern hemisphere.
2. The Tropic of Cancer passes through its middle.

Which of the above is/are correct?
(a) only 1 
(b) only 2 
(c) both 1 and 2 
(d) Neither 1 nor 2


